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April 25, 20XX

2= =2} & st=23te| Olsl 2t=2| 55 2tA|E 3Lt
| worked on the group project of the course “Understanding Korean culture” with my

friends today.

A 11A|0] st 7tH|E|[2|OtOf| Al BHLEV| = =0 £~2+0| 202 0|Lt =H| 2Tt
We were supposed to meet at 11 in school cafeteria, but Susan showed up 20

minutes late.

4=2t0| A| 25 Al O| QST SHEH
She said sorry for being late.

2Lt O] & 20| ot= ArR=2 Al
A| 4RUALH.
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But | didn’t feel good because these behaviors seem to create prejudices against
Korean people that Koreans are not punctual.

HE 2A=2 2 O3t

Anyways, our project went well.

22 AMUAMO|0{M O Z| o2l &
Susan still seems to make a lot of
freshman.

MBI LH7E =222 Zob0f0R3ICt

wess | should help her a lot as | am senior to her.
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Notes

20XXH 42 252 : April 25, 20XX
Q= :today
S22 e 21 (friend) + -S(plural) + -2 & (idiom(with))
ot 23}9| 0|3l : Understanding Korean Culture

O| : 1= (the course) + -2|(possessive marker)
A E: &= A (group project) + -=(objective marker)
: 5H(CH (to do) + -~ (pre-ending(past tense)) + -Ct (ending(to be; declarative))
A 11AI0 tat 11 am
2 (morning) + 11A|(11 o'clock) + -0Of| (marker(at))
St FHH|E||2|OtOf| M : Sk ZH|E|2|OF(school cafeteria) + -OlA (marker(in))
O} |2 e SHLHT) (to meet) + -7|2 SHEE (idiom(decide to)) + -%4- (pre-
ending(past tense))+ -=0| (connective; and then)
£=2k0| : £2+(Susan) + -0|(subjective marker)
20=20]|Lt : 202 (20minutes) + -O|Lt (marker(already)
=7 1 =(Ch(to be late) + -Al (ending(making adverb))
Qe 2(Ch) (to come) + -t- (pre-ending(past tense))+ -Ct (ending(to be; declarative)) A|
2ts A @ A|ZHSHEL (to be late) + -0 A{(connective; because)
O|QtstCt SHCE : O|QtSHEL (to be sorry) + -Ctal SHE (quotative) + -~ (pre-ending(past
tense)) + -Ct (ending(to be; declarative))
J2{L} - but
Ol & W20 : O] (these) + Y (behaviors) + -T=20] (idiom(because of))
St AtE2 1 S22 At2h=(Korean people) + -2(marker(exclusion))
A|ZH k&S OF 2|ZICH=: A|Zt 2k (the appointed time) + -2 (objective marker) + 2H(not) +
Z|7|(C})(to be punctual) + - Ch(quotative, contracted form of - T} StC}) + -
(ending(relative clause; nounmodifying))
QHE Bt= A 2oL 235l (prejudices) + -S(objective marker) + 2H(CH (to take/to create) +
-= A Z(C}) (modal aux.(to guess))+ -Ot(connective; because, contracted form of “-0}A’)
7|20] ZA| ALt 7|2 (feeling) + -O|(subjective marker) + Z(C})(to be good) + -Z| &
(ChH(not) + -~ (pre-ending(past tense))+ -C} (ending(to be; declarative))
o= UAAZ2: R E(anyways) + 2tHIZ (project) + -2(marker(exclusion))
2 OFFCH . 2 (well) + OFZ|(CH (to finish) + -%A- (pre-ending(past tense))+ -Ct (ending(to be;
declarative))
ARQUAMO|AM DA Z|: M4 (freshman) + -0|(C}) (ending(to be; declarative)) + -0{A Q& Z|
(idiom(maybe))
Of2!| sk AHEHOf|: OF&!(still) + &t A&k (school life) + -0 (marker(in))
ATt B2 A ZCE A4 (mistakes) + -7t(subjective marker) + 2 (CH(to be a lot) + -2 A
ZCt (modal aux.(to guess))
MRl L7t MBH(senior) + -O|(C}) (ending(to be; declarative)) + - (ending(relative
clause; noun modifying)) + LH(l) + -7t(subjective marker)
HAIHMo=Z : H=ZH (active/a lot) + -2 = (marker(making adverb))
Lot O{OFAICt: =2t (T} (to help) + -O{OFZIC} (idiom(speaker’s strong will or intention))
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Comprehension Check-up
Liot 2IFE2 FNE otV ol 2_ASL7?

1) 25 2JAHAM 3)SI A [E: 3]
2. & A2 E ARSI

1) T0A1 402 2) 11A  3) 114 202 (& 2]
3. 30| 2 M Lie| 7|22 ofRSH

DEUA  2) LT 3) FMRULE [E: 2]

Conversation

ﬂ 2+: D|QHRILICH Q0| 7|Ctal 4 &2 \

Susan: | am sorry. Do you wait for long?

of 2l :2f ol =RU0? H W0 2020|Lt 7|Ct3H &Ot
Eric: Why are you so late? We have waited for you for already 20 minutes. (=We
wasted already 20 minutes because of you.)

o 2t AREIE 2AO0| L= HHEHO| 20| QF efA] - HY O|Qtsli 2.
Susan: My computer had a problem and print-out did not work---.. | am so sorry.

AE|E2 ;0|2 Mefete of FRCH QS HiG|. OFFE Lo L7} O|A| A|&t5tAL,
Steven: It would have been better if you had called us in advance. (=You should
have called us in advance.) Anyways, you are here. Let’s start.

Of 242 QST ZARH 272 5 A 5 $of?
Eric: Susan, do you bring the things you were supposed to research by today?

= 2y, 7|2, O 22D X271 S| U0 282 2o 2 L ES 2L
HZ 20 E2A

Susan: Yes, here it is. But there was not a lot of material as | had thought. | could
not make print-outs but | can show you with laptop monitor.

AE|2 10 27F? &, M2 AA=E B LO| 20ttH|. 0| S5 A= 2|7t 21 A
48 B 7 OILR

Steven: Let me see. Well, you have found quite a lot of good materials. | think we
are going to get the highest score on this group project.

of 2l : ARS8 E OtA[7| . A}, Y2 AE|22F LY7F RAFSH 2 242 O 7|C SHa{ A
delsf 22 o =M= YHS X| ZAte Fs{OoFA|?

Eric: Don’t drink Kimchi soup too soon (= Korean proverb meaning “Don't count
chickens before they are hatched”):-- Ok, let’s first combine the things | and Steven
researched on to here and then arrange them. We need to decide which order we

@ going to present it. Shall we? /
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Notes

O|QkStLICt : O|QFSHE}) (to be sorry) + - LIC} (ending(to be; interrogative))
oro| : long
Z1Ct2|4&? - 7|ck2| (B}) (to wait) + -A|- (pre-ending(honorific)) + -2~ (pre-ending(past
tense))+ -& (ending(for inviting confirmation or agreement, contracted form of ‘A|2’))?
ol O] A £2101? : 2l (why) + 0| (T} (like this, contracted form of ‘0|2{3ICF) + -A|
(ending(making adverb)) + &(Ct)(to be late) + -2~ pre-ending(past tense) + -0
(ending(to be; interrogative))?

L 20 : Y (you) + -L{20| (idiom(because of))

2020]|Lt : 202 (20 minutes) + -O|Lt (marker(already))

7|CH &0 7|e2| () (to wait) + -Ri- (pre-ending(past tense)) + -&0HL) (ending(for
reconfirmation a fact mentioned already, known to the conversation partner))

40| L= BE2H0f| - 2440| LECH(to be in trouble) + -= B2l (idiom(because of))

£30| ot &M : &3 (print-out) + -0|(subjective marker) + 2t(not) + =/ (CH) (to do) + -O{ A{
(ending(because — connective))

ok 0[R2 : AU (so) + O|2+5HCTH) (to be sorry) + -012 (ending(to be; declarative))

0|2| : in advance

Hofete off FULH ZTUS ©Id| - M3H(to call) + -2t= (marker(any)) + sHCH (to do) + -0
Z(ChH (modal aux.(to do something for someone)) + - 23 (connective; supposition) +
Z(CH(to be good) + -4 HIH| (modal aux.(to regret))

Ot2E : anyways

e L7t - 2(C) (to come) + -%4- (pre-ending(past tense))+ -2 L7t (connective; because)

O|A| Al2t5EA} @ OA|(now) + A[2FSHTL (to start) + -AF (ending(propositive))

QRE7NA| 1 2 (today) + -7HA| (marker(by))

ZAFH 27|2 5 H 1 RAFSHEY}) (to research) + -0 2(C}) (idiom(bring it)) + -7| 2 S}C}
(idiom(to decide)) + -t A(infinitive phrase as noun, contraction form of ‘' Z’)

off 2t01? : 5H(CH) (to do) + -0 2(C}) (idiom(bring it)) + -%- (pre-ending(past tense))+ -0
(ending(to be; interrogative))?

7|12 : 47| (here) + -2 (marker(polite))



&4 - but

AZHECH : M2t (thought) + -E2C} (marker(comparative))

A2 7t U] AU R: 22 (materials) + -7t(subjective marker) + Z(CH(to be a lot) + -Z| &
CH(not) + -Q- (pre-ending(past tense)) + -0{ (ending(to be; declarative))

22 2 5l 210 : 2 (print-out)+ -2 (marker(exclusion)) + £(not) + 5+(CH) (to do) + -0
2(C}) (idiom(bring it)) + -~ (pre-ending(past tense))+ -2 (connective; and)

LES BLEHZ | L ES 2L EH(laptop monitor) + -2 (marker(with))

2o E2AL2 : E0|(C}) (to show) + -0f E2|(C}H (modal aux.(to do something for someone,
honorific)) + -2 A2 (ending (for speaker’s will, intention))

o] 277 : ot (let) + E(Ch)(to see) + -2 7t (ending(for seeking the listener’s opinion))?
Mae 22 S WA(C}) (to be good) + -2 (ending(relative clause; nounmodifying)) + At=
(materials) + -Z(objective marker)

B Bro| ZHokRty| : 2 (quite) + 0| (much) + ZH(CH(to find) + -OF 2(C}) (idiom(bring it)) + -
U- (pre-ending(past tense))+ -4l (ending(exclamatory))

O|H Z= 2A|=: O|H (this time) + &= A (group project) + -= (marker(exclusion))
22|17} - 22|(we) + -7Hsubjective marker)

2|0 A4S 2|22 4 (the highest score) + -2 (objective marker)

Bt= 7 OfLE? @ BH(C} (to get) + -= A(infinitive phrase as noun, contraction form of ‘= 4’)
+ OFL(CH (not) + -Ok(ending(interrogative, contraction form of ‘OtL|0F))?

HRZEE OtA|7|=: ARIZEE OFA|(C}) (Count chickens before they're hatched) + -7|=
(ending(contrast < connective))

At @ YCh(first) + -= (marker(exclusion))

Aol 2 248 ZAFSHED (to research) + -0 2(C}) (idiom(bring it)) + - Zd(infinitive
phrase as noun) + -2 (objective marker)

of7|Ct &2 M : o{7|(here) + -Ct(connective; in, contraction form of ‘YICt7F) + &X|(CH(to
combine) + -0{A{(connective; and)

Helsh 22t : A2|5HCH(to arrange) + -0 £(ChH (modal aux.(to try to do)) + -At
(ending(propositive))

of™ &M= : O{ (which) + & (order) + -2 (marker(by))

gtaet 2| @ BEHSHCL} (to present)+ -2 A (idiom(choice))

22t 50| ? : 22 (contents) + -= (marker(also)) + Z3HCH) (to decide) + -00F Z(CH)
(idiom(speaker’s strong will or intention)) + -Z| (ending(for inviting confirmation or
agreement))?
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1 Vocabulary
2| ke 03]

3
rk
r
ok

32144 jonit task, teamwork, group task
At= material, data, reference
=2} table of contents

AFSICH investigate
2tC} search, look hard for
=]

S HSICH present
A2|3ICt arrange, organize

_l_

7|:20| ZC} feel good
7| 20| LIt don't feel good, feel unwell
0| kSTt sorry
3}7t LICt get angry, feel anger
2 &Ct thankful, grateful
7|84C} glad, pleased

£IC} sad
© Exercise
1. (25 AlZHO =AS2 M) (

1) ARtELC 2) O 3) =t

2. 8wE2H ()0l L= B =012
) &d 2) &S 3) 44 [E1
3. =MEOIM HEE2 (1 )E BOl AU

1) IbA| 2) 2E 3) 2=

4. 277t S01M 2020/LH ()
1) 7ICHA0IR 2) AAFOI2 3) FAH0R

oFS 2 03]

=Ct be Iate

7|Cte|Ct wait

o5 promise

Z3ICt decide, determine, fix,
A|7|Ct keep, guard

HBHRC} change, switch
2|23t cancel

1. ZARBIC} OfTH O|L}
71 9I540] 24M|5| AT 2L} 85|t

o) ZHL 1 ARIS ZABI| AIZC,
23T} ARO| 29U 25| 9If AHTC,
of) QJ0fHH2! S 2O} YA Of2C|E g
ACt

AtES 25 &

). 80| 7|Cte|jlx?
U [E2]



© Explanations

a2 E| OfA|Ct Count chickens before they're hatched
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7} oo B0 SIS XHZ 4 7o}
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OIS @f & Cof ALO|Of AFO|AI20| Cf3
129 (LER+ 2 +91) S TH0{0]l AJOIAIR

= MOJAIR - &IOS O|F= F THOf ALO|0f| {22 A2|7t K5 = HRE EAlSH] 25l
& THO] AfO[Of] 20| = A|Z. AfO[A[RZ2 L0 222 EX5tS W B8
1) €227t L= 3% (O LIS - LIS - LEREY, ZOHE -2o0E - 2284)

2) © £2|7} 3 GiLKE B2 (O TS - HS - AR, HIZ - YIS - YE)
« & CHO} AROIOIA] "L A217h Rt o
3) v A2 £ GHLE= F2 (O 52 - SY - T, URY- LR URY)

S| ZLE AAS LIEIHC} &3] 0f|7|2] =t Lol Chah 21t

ZRE7F Y4H0| Lz HEE =012,
L2 2= u}aro" 2|2HH0i 2.
22 2ot Y iRl RO e,

1.~ HHE0'= Lo = 90| 20| o #S0| £ IS 0| WLt ote At
o oot CHE 21E VA = W &t
o) 27t =& Al F= B 7| 20| FAX02.(X)
HAS 22 Ef= BHEO| stuof| =102 .(0)
2.2t of0|= A M WAHO| Ot -= HHEOE ZCt
o) HAS 2% EE HHEO| Sfulof =02 (X

)
HAS 22 Bt B0 g =A% 2. (0)
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Exercise
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© Writing

1. 7|20[ FA| ULt

2. DtEHLCt. BiO| 7|2 f&?

3. dotete of FALH FUS HIH|.
4. A =FE OAICEH

Ct3at 2ol ¥7|

M2H L.

{SAMPLE»
20XXH 5& 1

2= StulofM EHS FCt.
Ei5| 28t UM 2 :
w7 2SS0 2ot & ChA| EES T

o= YH= & OrxiCH

2 g0l= AR LHE 2 O0pd 4 A0M 7|20] FUCE

| A ZERol

1.-= HHEOl| -2| Z3UCE, “W/A/F2H -SHIH S| BolS ARESH 5HA| 28t 20j| thsh Of
= HootL OF3SO|LE 2| UEIL= BESE Z&AI7| =5 | =6tCt
o) 25| 28It st BiEol 45 Tt
UZSHA| A LS SHA| HRUS HIH.



